stress test

ke [ Jeto] gare 42 ool
16 x 43 = 322 = 92U

—2(2x7y7|:]+4)—4y =2z —4y—8 ¢ o,
[ ool @2 A& Fatolet

the 24 A
9 ABCD ©] ol A

@D (a+b)?=a%+2ab+v?
@ (a—0b)*=a®—2ab+b?
® (a+b)(a—1b)=a®— b
@ (z+a)(z+b) =22+ (a+bx+ab

® (ax +b)(cx + d) = acx® + (ad + be)x + bd

a=y . b=—3 A, g N FE ool
a—[3a—{a—2b— (7Ta —4b)}]

5.

7.

pl ]

[e] O (o]
s 5 82 A2 1=2H?

@ 52 x 5% =25°
@ (72)10 — 7210

4
9

® (@) =z

32
o L ®
X
3y2
w5 ®

o}

9y? 13
it 3 =
x X
9
2u

O [e)
oS 3 22 2 1=2H?

@ 5% x 5% =255

(42 -2y +1) — (

o
ure 429

.

® —5224+5y—5
® 522 +y-—3

® 522 -5y +5

@ (333 =27°

@ (22)® =623

)= —a?+3y—4°lA ()l

@ —5224+y—3

@ 522 4+y+5




9.

10.

11.

12.

13.

oA A oA —r—2y B HFFAEY do+y 7t HS
ot o] o, thd4 A & F5HH?

@ 22 +y @ 3z—y+1

® dr+y-3 @ b5+ 3y

® 6z + 5y

1]#‘?:141]'% O] O}O:] 27 % 50 Eﬂ Z]—E] /\O];(] 3]_

5 a,b ol A5t 3z — 5y — {y —2(22 +3y)} =
ar+by € W, a+b 9 gS Fstof=t

(4z — By + 3)(z + 3y) & AL ©, zy o] AFTE

T-5tefet.

14. gt W9l Zo|7}t xm Q1 HAFZFY o] meFo] 3hhs 7tz
2m WE 593, Al2E 3m T 59 1, 3o

m
o]=7?

8ol ot

O (22 —9)m?

—

® (2242 —6)m? @ (2% -4z +4)m?

® (22 + 6z +9)m?

15. o2 B7]+= ot

=s+a 5[ ] e &Rl Teto] E
Aolth. && A&

o B
7]

{F

Q s=uvt+als] © a=vt—sla

s+ a v
© v= n [v] @ t= SJra[t}

3
16— 5 =2 am e ge A0

3a(a + 2b) — (10a%b + 8ab?) + (—2ab)

Fatelet,

9
= L ol atb 9 g




18. 1 x2x3x4x5x6x7x8x%x9x10=2%x3%x

5 x T 0, a4 b c— do| & Fatolet.

19. ot

mlo

% 874 gL 27

Mo

D zxa* xy® xy=2xy8

20. o1 623 — 622y o s )

= = a o o = ° . i
2x 3y =2 [q 9.3 T 3x2y —’] ]-0213 ( s
z#0)

21. 2 (4z + ay) (bx +y) = 242” + cxy — 6y> & W, A&
a, b, c oA a+b—c o G227

® 7 @ 8 ®9 @10 O1

22, 210 = 1000 o]2t1 & off, 1.6° & 71H5] ofof=h

- (—1)2003 4 (_1)2004 o]

@27
O —2003 @ -1 ®0
@1 ® 2003

24. o34 A, B ol tisto] A = —a+3b, B = 2a—4b+c
A, 204+ B)—(A+B) Sa,bcoll T Ao
LERHH?

@ a—-b+c @ 10b—c¢
® 5a —9b+ 3¢ @ 1la—9—c
® 9a —11b+c

25. thg Aol P o] gke Tatelat (% a£b£ )

a b c
P = =0 T h=ot-a) T e—a)c=0)




